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Operations on Radicals Lesson #2: Adding and Subtracting Radicals 103

ClassEx.#3 | Find the length of x
’ |
=

a0 | a) as an exact value
."‘%

»

b) as a decimal to the nearest tenth.

Complete Assignment Questions #6 - #13

Assignment

1. Simplify.
a) 5V7 -2/7

37

d) 4/5 -2\/2 +8

RIS

2. 'Write each expression in terms of a single radical.

a) V125 -/5
AS 8"
5v5 - IV§
4y5
d) V150 +
s b bk
5v6 +b Vb

A

g) Vi6 + /162
Gl

sy

3 3
b) 913 +2v/13

NVEY

7 e) 13Va +7Va

Qow

b) V27 +/12

3V3 + av3
5V3

e) \/_6+\/T

Q\ﬁ +—‘1\ﬁ-l
AVEY

h) 2\/[’_ 6\/_
0o .
a1 - m‘ﬁ

a\

8vV2 +212

5v27 -4/ 18

©) 41T -9/11 +§/11
]
r)‘-3ﬁ,+&[-9ﬁ+4ﬁl

Va -3V3

) V24 - \/_+2\/_
b a6
2 -3vg +aib

/6

f) -3\/'"17'5 + 828 - /63
a 1 (‘f‘# 3. %F

-isva + eV - 347
- F
i) —7V3% - 29750

ST by a-
(3) -3(5)

N
- WAL
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104  Operations on Radicals Lesson #2: Adding and Subtracting Radicals

3. Simplify by combining like radicals.

a) V20 + /72 - /45
LS A T 11

W5+ bV -3VS
bJa -Vs

¢) V98 ~+/20 ++/18
‘f‘i.JJ L"{ (i'p

Wa - aVs +3V

lova - V5
giz e) m/ﬁ§+vff+3vx
a1 8 oYy
P (%) G

43= (Y (,\/" J—Jﬁ"' IJ\/—
<3: \;S’ &Oﬁ

b) V27 +V12 -/32 -8

43 43 - 1+

V3 Fav3 - V2 - Al

d)

5V3 —bia
2 6) s{3
2y - H(@’I(%%
-3 - WG
124/150 - 5\/_4-3\/_
ds-t 1L
1345)

5(3)

6oVe - 15VE !—‘vﬁ’
5Wh

4. Plot the points A(-6,0), B(10,0), and .

C(2,4). and determine, in simplest i i i ?1 ":" E* ! ;
radical form, the perimeter of 4 ABC. T — £0 i
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Operations on Radicals Lesson #2: Adding and Subtracting Radicals 105

5. Writlei.n simplezst radical fo;m. 3
3V + ST - BT 3 ()0
7+ 4A - _:E’:\ﬁ + 3
5

A3 3
/1008 52000 __ _ 1.5/ S
b) 77/ 1024 +5 2000 —336863_'-1‘%3 28 9 _-_1_ jaa™ + pe A3
64y &

ASIJ-.;L 1240y, 2 7

SOF 2 - 0B+
W RG -l v305

35 3
6. Determine the perimo::te_5 f the following figures in simplest radical form.
@r . (25 ] 280 + 24
a) 45 b) AYE A
JE ks 4.b
. 316
@/— e Jgﬁr\ ~2+/96 + 54125
’ @ e T
L.
4,11?5 @FS— - ¢t +-35\G/
& sT+ AL

P= 14V5 p-
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T e Tongth o cach of e iseng 24320 - W2
sides.
5v/99 - /208 J L
| avaE - v
/2000 + /6
y = (s + (o) — (35ss - \@\‘1)

o TA

(a0 (% 4{6) - @’JR'_ (9\/—6) yet

l X = 45 H@
)-Omﬁfﬁﬁ
o -13

Osm 4B - (101 - 303
A

flaet3

3= 60

8/ Determine the next two terms of the following sequences.

8) 4+22,6+3/2,8+44v/2,.... b) 6+2v/3,3++/3,0,....

Muluipte R j%?. V3 equals 5 6 T B

Choice
(> sv3 = 6(3
B. 2613
C. V78
D. 3v/5 ++3
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Operations on Radicals Lesson #2: Adding and Subtracting Radicals 107

10. Giventhat x-2+/5 = \/ , then /5 +x isequalto

: v LAl - 37E
W5 3y Ta s

(o v x=5(5 (5 + X

11. Insimplest radical form the perimeter of A POR is

A. /252
B. 6/7 P
100/3 + 46
52¢/3 +16\6 vas 3003
W3 s V3
Yv3

IO\/TS-‘\"‘I&H;

NUNCICNR12. When simplified, the expression v/ 52 + /208 - /13 +1/169 can be written in
Response the form p\/13 +q.The valueof pgis _____

(Record your answer in the numerical response box from left to right.) 6 5

rpr Vi3 + {169

CERUF - r 3
?\/EH’E) Py = 5(13)

r %
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108  Operations on Radicals Lesson #2: Adding and Subtracting Radicals

3 3 3
13. When simplified, the expression ;x/ 48 + fz—\/ 162 - %\/ 750 can be written in
the form a\3/5 . The value of a, to the nearest hundredth, is

(Record your answer in the numerical response box from left to right.) \id 5‘
AN + -3—\/154 ?S—,\’/')To
A 1 tas b

§ b
3(&\\%*'(3)‘//”( :
16 + 4 — 3V

.05

Answer Key

1.8) 3/7b) 1{13 ¢) -4y11 @) 4/5+6/2 o 2008 0V2 -3V3

2.8) 4/5b) 5V3 ) VE @ 1VE e 692 B 2V7 g) 2432
b) 2v7 i) -31y2

3.8) 6/2-v5 b) 5V3-6V2 ) 10VZ -2y5 @) -3v7 - 1146
e) 20\3/2 n s51/6

4. 16+8y5

5.0 BV7 w2z

6. 2) 14/5 b) 665 - 12¢/6

7. W1 =13, 45 +7/6

8. a) 10+5V2,12+6v2 b) -3-v3, 6-2V/3

9. A 10. D 11.C 12.| ¢ 5 13. &8

(&)
L
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